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Group - A

Answer any four questions. 5x4=20
. Define instance. What is referential integrity constraint? 2+3
. Explain the three tier architecture of DBMS. 5
. Explain the domain relational calculus. Define functional dependency. 3+2
. What is the difference between 3NF and BCNF — explain with an example. 5
. What is aggregation? Define generalization with an example. 2+3
. Explain the differences between traditional file system and DBMS. 5
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Group - B
Answer any two questions. 10x2=20
Write short notes on : DBA, ER diagram. 5+5
Define : Primary key, Candidate key, derived key, composite key, schema. 2x5

What is the goal of normalization? What do you mean by full functional dependency and
partial functional dependency? What is self and cross join? 3+4+3

What is data model? Explain the network data model in details. Define foreign key.
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